UOI=BEMPENALTY S V7, 2 S AR
A—vvrhvF Uu—12 A7wy7 ¥ 44110 (1)
IE)I7Z7 KA - B
1 6
i b
5 3 ’,/\\\\ 2 10 ’/,\\\\ 7
O P O yy-— 7 wvam | O ~O 1 mA
\ \ £ 2
\ » — / \ _ 1
G TN Fo & BIN—T Jo
\ \
4 N /3 9 v /8
K ST @ FHAFC HR @ 2@ A
LA : GO 15 —55y— 164y THH AL Z ]
2hE
RN ETTIE - BB (BH=3, 43T =1, &1F=0)
o 14 ® 14 O BRAE, R, CUEF-AORIK, R
JIEAT PR e TR O AL P KR (%F-434)
50 RI\A
6L AT
a 34r | (@) 3fL a 241 | (@) | éZﬁZ
STA 0
1002 8ir
a 54F | ® 5 L a 447 | ® | §4{i
R | BH AR R x oy Aa—b+ E3FE MHEE *t Bk Ba—bk % | HibhE
@ 9:30 F L - Jy— IRE(FC | RBEMT Fo = - TE7E HFH A 5
® 10:15 HREFC - KPERT aydh - L AL A - FH L FVIVA | BT A
® 11:00 pyd b = - =5} Uy—  FEEC | FMWIVAER - A ikt HHA
@ 11:45 Jy— - HRE(FC KBEMT | b - ke - HEE A MR 7 WA
® 12:30 KPERT - nyth b =l HStL yy— FH L - FVIVAR | BHREEE D R
® 13:30 a 5L B B al B1 a 4L B4pL B2 a2
@ 14:15 RA B B3 ab B5 a 2L B2fL B4 a4
15:00 a IfL B BIfL a3 B3
™~ = 1 W 2 Wb ) Iz ;f*ﬁ
Sl lm ]| Fa I - I _ RN A
<A BRAARSRD Ak S | ePin R | pasanER ] s R b | R R B R | gy
1 |H Ll 9:30 — Jy— | 11:00 — b=l
7| A 2 1V U —[ 9:30 — Hr S 11:45 — HRETFC
|7 | a|3|B E FCl 10:15 — KYEHT | 11:45 — vy —
Jﬁ'l R 4 |k BE ET| 10:15 — BRETFC | 12:30 — nyh -
5 5wyt b —w 11:00 — ¥ | 12:30 — KYEHT
i 6 |#r o Ol 9:30 — %@ | 11:00 — L zari
Al B 7 |3 Wl 9:30 — e 11:45 — A A
<788 mo Al 1015 — Mg | 11:45 — A
Bl 9 |Mm il 10:15 — HEFA | 12:30 — F WIVETT
107 V) A | 11:00 — FrfaE| 12:30 — 22070
[ JE fr ] 1ff 20 3N 4fr 5{\f 6L (Ziva 8fir INL 102
K& 2 HHICR
BETHY—7
12720 F£9°




